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QUESTION 1

Which BGP configuration option is required when peering with an IBGP neighbor using loopback addresses? 

A. local-address 

B. local-interface 

C. update-source D. source-address 

Correct Answer: A 

 

QUESTION 2

Click on the Exhibit button. 

Based on the exhibit, which step in the BGP route-selection process causes the router to choose the selected path? 
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A. MED 

B. metric to next hop 

C. local preference 

D. neighbor ID 

Correct Answer: A 

 

QUESTION 3

Which feature will cause the port to transition into a blocking state when BPDUs are no longer being received? 

A. RSTP 

B. BPDU protection 

C. loop protection 

D. root protection 

Correct Answer: C 

 

QUESTION 4

Which two statements describe STP and RSTP interoperability? (Choose two.) 

A. STP protocol discards any RSTP BPDUs it receives. 

B. STP protocol accepts RSTP BPDUs but will not respond. 

C. RSTP accepts STP BPDUs and responds with STP BPDUs. 

D. RSTP discards STP BPDUs. 

Correct Answer: AC 

 

QUESTION 5

-- Exhibit ? 
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-- Exhibit -You are required to configure a static route to 10.0.100.1 on R1. The traffic must flow through R3. 

Referring to the exhibit, which static route configuration parameter meets this requirement? 

A. install 

B. retain 

C. qualified-next-hop 

D. resolve 

Correct Answer: D 
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